1/0 do/dtaus,,

Ratio to ATLAS

=
o

1071

1072

[EEY

0.5

7000 GeV pp Jets
[— I | I I I | I I I | I I I | I I -
- N-subjettiness 1,/1, (anti-k_(1.0), 400< p_< 500, |y| < 2.0) n

m ATLAS
— —}— Pythia 6.428 350 —
—  ---- Pythia 6.428 351 -
. --¥-- Pythia 6.428 352 ]
- A~ Pythia 6.428 353 corz e, -
— --0-- Pythia 6.428 354 Ef;%"ﬁ TR, g -
--%-- Pythia 6.428 355 g
— & Pythia 6.428 3;% N =
- Pythia 6.4287357 N T
o Pythia,/ @28 358 @ —
= Jﬁ/ﬂma 6.428 359 -
- i
.
| v;’zﬁ/,/ J——
= 5
_ A ]
— | | | | | | | | | | | | | | | | —
: T | T T T | T T T | T T T | T T :
-y .
v
B Cr VT - ";J—;ﬂl_{ﬁ_-_‘ ;;::::@":j_:":é |
| AR A |
.-
1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1
0.4 0.6 0.8 1

N-subjettiness tau32

Rivet 3.1.0, = 14M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


